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Intercept Form
y=alx - p)x-q)

Name:
Hour:

What Is the axis of symmelry for
£ = -0 - 2+ 92

(@ Wny ore quadratic equations written in
Intercept (dlso known as factored) form?
Explain.

‘What is the vertex for
FOO = (x - Dlx + 2

@ Cronge the quadratic equation
y = x - 2Ux + 4 fo standard form. Calcuate
the axis of symmefry and verlex.

@ Compiete fhe fable For £ - -6x - 20+ 42
X Y

@ Cronoe the quadratic equation
y - -x - 2x 4 fo verfex form. Cakcuate
fe axis of symmelry and verfex.

@ 0o the axis of symmelry and the
points. Skefch the parabola.

AP

(@ \write an equation in infercept form for

the parabola graphed below.
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INTERCEPT FORM v = alx - p)x - q)
SCAVENGER HUNT WORKSHEET

Hour:

Name:

Solve the first problem. The answer to this problem willlead you fo the next problem fo be
completed. Look at the answers in the gray rectangular boxes. You shoud find your answer.
Complefe the next problem and so on until you have finished al twelve problems.

ST o”

IF YOU FOUND . ..

x-infercepts:

TFYOUFOUND ... (-3,-25)

Where does this
parabola cross the
x-axis?

y = 2x e 3)x - H) *

This quadratic
equation will cross

the x-axis at this

y = (¢ 3 +3)

Rewrite this equation

in intercept form.

ye22-8

TFYOUFOUND ... AOS. - -6

point.
TFYOUFOUND ... (-3,0)

IF"wmnyﬂ(x»6)(><~2

Cdlculate the vertex
for the following
equation.

“(x - Dx + 5)

»

The x-intercepts
must have a y-value

equivalent fo this

Change the
following equation
fo sfandard form.

y = -2x + 3)x - H) *

I”wm'lwy=Z(><~Z)(><72)

number.
IF YOU FOUND .. (3. 0) & (H.0)

TFYOUROUND Y, 2+ X

Rewrite this equation
ininfercept form.

y =332 24x+ 36

When an equation is
written in infercept

Form, what wil tell you
the parabola wil open

up or open down? *

When an equation is
written in infercept
Form. what is easy fo

identify?

TFYOUFOUND ... AOS. = 5

TFYOUFOUND ... (-2.9)

TF YOU FOUND ...

a-value

Cdleulate the axis of
symmelry for the
following equation.

y o O Hix + 8)

#

Calculate the vertex
for the folowing
equation.

ye(x-Dx+8)

%

Calculate the axis of
symmelry for the
following equation.
Axis of Symmetry « AQS.

o2 x4 *





